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Cf-1 23.46 oista= 4.09 38.20 0.06 1.30 0.41
ol Ct-2 375.52 R 12.38 334.84 0.78 0.76 0.45
3 ste| HHaly Ct-3 17.85 Chstel= 14.71 24215 0.90 432 0.41
(51-01-08) Ct-4 3474 R 2249 91.32 0.33 6.10 0.00
Cf-5 27.85 chstol= 15.58 355.57 1.14 413 0.62
-6 109.80 R 5.79 18.83 0.24 0.64 0.10
2}-1 84.42 chstol= 16.54 45.20 0.07 5.14 0.82
-2 17417 R 27.84 2893 0.00 2.63 0.85
23 23.10 ohstol= 18.46 139.87 0.83 5.21 1.89
2H-4 941.43 R 29.00 61.29 0.00 10.05 0.76
2}-5 14.84 Cigtal= 38.64 52.65 0.06 12.72 0.13
HaxaeL 2k-6 22,968.15 ohstar= 66.99 31.08 1.01 11.22 1.01
(51-02-01) 27 85.44 ohstol= 1.14 455 0.09 1.14 0.34
218 609.14 R 12.61 14.84 0.21 3.44 0.34
2t-9 164.02 chstol= 12.38 334.84 0.78 0.76 0.45
2t-10 1,367.69 o= 20.99 48.68 0.39 2.04 0.12
2F-11 3,042.92 chstal= 48.69 26.71 0.00 7.51 0.29
212 2,205.98 o= 72.83 31.10 0.04 7.24 0.00
2f-13 105.83 chstol= 20.75 37.35 0.17 3.88 0.11
N Of-1 10.33 ot 65.21 27.15 0.00 9.39 0.00
deHe| 2y of-2 1,058.77 Chstel= 41.25 42.75 0.28 23.49 0.00
(51-02-02) of-3 894.12 R 30.55 103.42 0.38 17.08 0.00
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Of-5 566.24 e 10.26 18.11 0.16 7.09 0.28
Of-6 1,335.37 R 67.56 18.43 0.57 16.52 0.23
Of-7 1,519.23 R 12.25 3849 0.00 0.07 0.15
RF-1 775.86 chstal= 51.82 29.95 0.16 10.38 0.00
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-1 8,517.58 e = 7.46 18.61 0.09 3.86 0.07 -
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7t-6 74.12 o= 22.66 91.09 0.82 4.63 0.09 0.11
7t-7 1,738.44 = 41.07 85.28 0.61 3.09 0.29 0.23
7t-8 786.85 tHsro= 36.52 55.32 0.07 1.46 0.14 057
7t-9 700.74 o= 33.96 73.09 0.22 247 0.00 0.11
7110 10,581.76 tHsro= 3.97 21.86 0.11 1.94 0.04 0.27
7k11 74.94 fperar= 54.60 303.58 0.93 12.03 0.04 0.62
712 1,364.30 tHsro= 129.89 60.97 0.89 8.04 0.38 0.11
7k-13 1,771.83 fperar= 23.32 70.27 0.46 236 0.08 0.29
7t-14 3,581.86 tHsro= 22.96 7151 0.48 5.09 0.00 0.21
7k-15 1,596.17 o= 189.13 54.29 0.65 6.13 035 0.71
A 7t-16 343.18 o= 10.79 53.24 0.03 0.92 0.00 0.09
Heds=AF =
EESUE] 7k-17 1,754.58 o= 19.72 65.41 0.00 4.56 0.00 0.23
(51-03-01) 7t-18 1,621.46 Chstal= 4.80 12.66 0.05 0.89 0.00 0.01
7k-19 244.97 o= 2.02 39.58 0.00 4.66 0.04 0.15
7k-20 1,602.23 tHEro= 4247 90.18 3.48 4.99 0.04 0.26
7h-21 1,505.78 tparar= 14.87 114.92 0.64 2.68 0.00 037
722 13,359.39 tHsror= 4233 21.98 0.04 2.40 0.22 0.04
723 2,013.42 fparar= 38.25 756.50 1.27 276 0.00 0.53
Tt-24 613.01 it 16.48 26.13 0.27 3.01 0.00 0.07
7t-25 416.37 fparar= 12.92 78.06 0.17 5.01 036 0.19
7t-26 181.81 it 25.83 13694 0.11 3.08 0.13 0.26
7t-27 864.39 fparar= 52.65 26833 5.23 462 0.18 034
7F-28 2,170.82 it 105.29 44.15 0.19 591 0.18 0.15
7}-29 274.86 fparar= 40.53 51.76 0.18 3.58 033 0.16
730 47.88 tHsror= 56.07 635.81 0.10 2.60 0.09 0.08
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7132 690.00 tHsror= 2234 44.21 0.26 0.50 0.02 0.05
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( ) Lf-4 513.10 el = 485 12.18 0.00 0.20 0.00 0.02
[T Lf-5 236.80 el = 8.35 11.36 0.07 0.72 0.00 0.04
&d Cf-1 137.84 = 16.75 18.51 0.17 3.22 0.20 0.05
C}-2 391.19 tfater= 13.40 25.10 1.27 2.64 0.16 0.05
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